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Please check whether you have got the right question paper.
All questions are compulsory.
Figures to the right indicate full marks.
Use of non-programmable calculator is allowed.
Normal distribution table is printed on last page.
Support answers by diagrams where applicable.
Graph paper will be supplied on Request.

N.B:

Q.1 Attempt any two questions :
a) Use Simplex method to solve the following Linear programming problem 7.5
Maximize Z = 3x; + 75
Subject to the constraints,
2xy + 5x, < 20
s X +2x, < 4
X1 20,x2=20

b) Use Graphical method to solve the following Linear programming problem 7.5
Maximize Z = 8x, + 5x,
Subject to the constraints,
5x3 +3x, = 30
2%, + 5x, = 20
Xy + Xy < 8
Xy 20,520

¢) Answer each question in brief:

i) Discuss characteristics of Operations Research. 2.5
c ii)  Explain “Redundant Constraint™ in Graphical Method of LPP. 2.5
i) Write the Dual for the following Problem. 2.5

Minimize Z = 8x, + 2x, + 3x3
Subject to the constraints,
i . _-'_."\ Ar X1 - 3.7(2 i SJC3 =18
AP R IR A S SV A 2 F a7
B o . Xy = O,XZ = 0,,X3 >0

Q2 Aﬁe;ﬁpt any two questions:

a) Four jobs are to be assigned to four workers on one to one basis. Cost of each assignment is 7.5
2iven in Rs. Thousands. Find optimal assignment of job and worker to minimize total cost,

Workers Fa e Jobs
. S e B C D
PR T SRE L Fo < 6 4 )
R T S 5 6 5
“Anily SRS 3 9 4 3
__Swapnil 6 , 5 3 2
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Q.P. Code :31261

b) The quantity of different products (in units) produced by the workers per day are given in 7.5
the following matrix along with the profit in Rs. Per unit. Formulatc a Profit Matrix and find
the optimal assignment of workers to product which will maximize the proﬁt

QuantltyomeductsmUmts Pl ;

Workers Percil Rubber T o
Amit 30 40 el 100 50
Sumit 25 70 140 30
Vinit 40 90 130 60
Punit 35 45 120 40
Profit in Rs. Per 4 2 1 >3
Unit 5

¢) There are 3 Factories A, B, C and three Markets X, Y and Z. Supply at the Factories is
60, 80 and 85 units. Demand at the market places is 75, 110 and 40 units. The supply
and Demand of units with unit cost of Transportatlon (in Rs.) and the schedule
followed from Factoriesto Markets are gwen below: (The numbers which are shown in

circle indicates number of units transported from Factories to Markets.)

j (Cost in Rs.)
arkets b s 4 Z Supply
Factories
A ' st 6 3 L3 60
B 158 2 L2 80
@ @
Ce PIE IS o [ 71 8 85
Demand e 110 40 225
- .Test the gwen solutlon for opumahty and find optimal Transportation
e Solution. .
4o1i) o Find. one more optunal alternate Transportation solution.

RO IS
o)

A-:-\."Qbmment upon the managerial significance of alternate/ multiple optimal

Tran‘:portatlon solutlon

o Q 3 Attempt any two questlons._é-.z:'. > ‘\ :

a) A small project: consists of fol]Ong activities:

EB0C22D99B59CI9B1CEE0466F01514779

Activity Preceding Activity Time (days)
A - 6
B A 7
. A 9
N A B 12
TES C 7
F D.E 8
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Q.P. Code :31261
i) Construct the network diagram and find out critical path and projeci completion 2.5
time. ;
ii) Calculate Earliest Start Time, Earliest Finish Time, Latest start time and Latest 04
Finish Time for each activity. '
iii)  Calculate Tail Slack and Head Slack for non critical activities. 01

b) The data for a PERT network is given in the following table. The project manager has made
following calculations of Average Expected Times from Optimistic time, most likely time
and pessimistic time for various activities of a project as well respected standard Deviation
and the variance values.
Events Expected Time (te) | Standard Deviation Variance
i-j in weeks
1-2 5 173 1/9-
1-3 6 1/3 1/9
2-3 4 1 . 1
2-4 6 4/3 16/9
3-5 3 +4/3 16/9
4-6 2 1/3 1/9
5-6 4 1/3 1/9
6-7 2 1 I
i) Construct the network diagram of PERT network. 2.5
ii) Identify Critical Path and find the expected completion time of the project. 01
iii) Find project completion time for 95% confidence level. 02
iv) If the fixed cost of the project is Rs.30, 00,000/~ and the variable cost is Rs.20, 000/-
per week. Find the amount the firm should bid under the policy of 95% confidence
of completion of the project. (for the purpose of bidding, consider only cost that is
break even situation — no loss and no profit)
¢) Answer each ‘question in brief: ol
i)~ Whatare the objectives of project crashing? 55
i) ~ Discuss the concept of Dummy Activity. 2',;
i) Discuss the difference between an Activity and an Event. 55
Q4 Attemptany two questions. g
‘a) A department store with a bakery section is faced with the problem of how many cakes to
buy order to'meet the day’s demand. The departmental store prefers not to sell day-old-
¢ cakes. Leﬁ over cakes are therefore, a complete loss. On the other hand, if a customer
3 ; desires cake_'b'_qt:-_all of them have been sold, he will buy elsewhere and the sales will be lost.
. The store has therefore, collected information on the past sales based on 100 day period as
‘shown in the table below: '
Sales (units) [ =~ 25 26 . 27 28
“Probability 02 0.4 0.3 0.1
i) Construct the conditional Pay-off (profit) table. 2.5
- ii) Calculate Exjjec_t_e'd Pay-off (profit) using EMV method and suggest best course of 03
action.
What is t‘-h'e' optimal number of cakes that should be bought each day? A cake costs
Rs.10/- and sells for Rs.15/-
iii) Calculate the Expected Value with Perfect Information. (EVPID) 02

Page 3 of 6 '
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b) There are 7 different products in a machine shop. Their manufacturing time in Hrs on

machines 1 and 2 are given below. Each of the products must go through two machines |
and 2 in the order ] - ]

Products Time in Hrs on Time in Hrs on Machine |

Machine 1 _ 2

A 25 P FRE s

B 40 3 TT 05

C 15 45 -

D 20 30

E 75 35

F 100 40

G 60 45

) Find the optimal sequence of products manufacturing that minimizes the total elapsed ¢

time, '

ii) Find the total Elapsed time for the optimum sequence. 35
iii) Calculate the idle time for machine 1, g 01 o
iv) Calculate the idle time for machine 2. 01

¢) You are given the Pay-off (profit in Rs.) matrix in respect of a Two — Person Zero — Sum
Game as follows:
Player B

Bl B2 B3 B4
1 Al 13 14 -4 -12
A2 8 9 0 5
Player A A3 7 -5 -2 -8
Ad -9 ) 0 -2

i) Find the Maximin strategy 2.5

i) Find the Minimax strategy 2.5

iii) What is the Value of the game? 2.5

Q.5 There are 3 warehouses A,B, C and four market places P, Q. R, S Supply at the warehouses is 8,9
and 13 units. Demand at the market ';jlac_e's_"is"ﬁ, 9,6 and 7 units

(=% :
‘E :
=
—E
=
~J
oo

108 = on
s 2000 I N I
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Test the given solution for optimality. 03
If the given solution is not optimal, find optimal solution using MODI method and 03
calculate optimal cost of transportation.

From the obtained Optimal Table, answer the following Questions.

iii)
iv)

V)
vi)

vii)

g

If 3 units are transported from B to P, how will the cost be affected? 01
If the transporter from A to R is prepared to reduce the cost by 20% even if one unit 02
transportation business is given to him. Should the offer be accepted?

If the management wants to embark on an advertisement campaign in one of the market 02
place, which one should be selected?

If the transport cost from C to R decreases from Rs. 11 to Rs.4, what will happen to 02
transportations solution? _ ) o : '

What should be the decrease in the cost of cell A-R so that it can be used alternativelyso 02
that multiple solutions are possible?

Page 5 of 6 '
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Q.1

Q.2

Q3

Q.4

Q.5

Incbian Huos 1 Mjé :
Q.P. Code :31251

[Time:2.30] AN fmarks 7L

Answer any 2 questions from the following .~ -
a.

Please check whether you have got the right question paper.
N.B: i) All questions are compulsory Sk
i)  Figures to the right indicate full marks
iii)  Support your answer with suitable examples

Answer any 2 questions from the following St e 7 o LD 15

& PSS O S R ;-
b. Differentiate between Indian management and western management
c. :

Explain the need of India Ethos

What are the management lessons learnt from the Vedas?

15

.

What is the work ethos? Explain-the levels 'Q'f--.WOI_‘k ethos.

b. Discuss the values for Indian manger, - -

C.

Explain the impact of values on employees, customers and -gOVefnmeﬁt_. ;

Answer any 2 questions the following > 0 8 S T 15
a. Explain the stress management techniques - S 2 A e
b. Differentiate between _t;gnsa‘ct_ionalga'nd;tx"a_n'sfonnational"-lcadership_

c. Explain the Saam, Daam, Dand and Bhed t_}_-i'éfo'fy of motivation

£

Answer any 2 questions from the following ; 15
a. Explain Gurukul system of learning and give its features

b. Explain the laws ofkama o . > -V S O

¢. Discuss how Indian ethos helps in personality development

Read the g_ivgﬁ :"éa“s_e studyagdanswer thequc;snmlsgwenbelow 15

Sunil Power Tools is an industrial establishment based in Belapur. It is owned by Mr.
Sunil Mishra, who is the rﬁan_ag_ing director of the company. The company is reputed for

- it quality products. Mr. Ramakant is a union leader of the company and also works on

* . machine operator, in .'thq"'ﬁ_lfddupﬁti_oﬁ'ﬁepﬁlftfnént. This department is looked after by Mr.

el -

P

4
(]

Soni, an engineer specialized in metallurgy. Since Mr. Ramakant is a union leader, he

_could not give adequate attention to his job. He is egoistic and arro gant individual. Mr.

. Soniis well ﬁat,l‘j,ijed-"fﬁdfyidﬁa}l_.With'--Rtofessional acumen. Due to Ramakant’s negligent

attitude towards "_{_iro;rk\a‘b:on,gi’gn-‘l‘r_;ent of 50 twist drills made ready for dispatch were
/- delayed with major discrepancies in the item. During inspection in the item, by the

quality control inspector, it was found that 8 twist drills were defective, when questioned

- by Mr. Soni, Ramakant was very rude and arrogant Mr. Soni made a detailed report and
~ submitted to the MD; the MD issued the charge sheet to Ramakant. Ramakant
- - approached the MD with an apology and requestéd his case to be considered
_ sympathetically

& Ouestions =+ & s
'1." Do you think, Ramakant’s behavior will adversel y affect organizational culture?
“Suppose you were the MD who has an understanding of Indian Ethos, what action would
- you have taken on the apology of Mr. Ramakant?

kkokkokkkokkokkkk
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Time: 2:30 Hours Marks: 75
Q1) Answer any two of the following: 15 marks

A) In an image conscious corporate market, what elements do you think will affect corporate image?
B) Discuss on the scope and need of corporate communication.
C) Explain in brief about digital piracy & invasion of privacy

Q2) Answer any two of the following: : 15 marks
A) Explain the meaning of PR and its functions.
B) How do various business environments influence business of a company?
C) Explain any two theories used in PR in brief.

Q3) Answer any two of the following: ) | 15 marks
A) Describe principles of a good media relation.
B) What is employee communication? Mention its sources.
C) What is a press release? What are its characteristics?

Q4) Answer any two of the follo.\.ving: ' 15 marks
A) What do you mean by corporate blog? Mention its role fn PR.
B) Write a short note on: E-media relation & E-internal communication.

C) What is the impact of technology on corporate c_émmunication?

Q5) Solve the following ?case and answer the questions given below: 15 marks

XYZ Bank has been in the banking business for last 50 years. They are well-known for good customer
service and ethmal employee culture. Recently, the bank came into spotlight for the fraudulent acts
committed bgz some employees. This has adversely impacted customer faith with respect to employees.

Questions:
1. Discuss the role of management in employee communication.

2. If you were the manager of this bank, how would you handle this crisis?

o ok skokok ok kol ke ok
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Note: 1. All questions are compulsory
2. Figures to the right indicate marks.

Tna¥

QI. Answer the following (Any Two) (15)

a. ‘Brands are very important to consumers.” Justify thls statement W1th reasons.
b. Explain the various steps in the strategic brand ‘management process.
¢. Define positioning. Explain the importance of* positioning for a brand.

Q2. Answer the following (Any Two) _ g P . (15)

a. Explain the various types of brand elements ‘Which brand element is the most
important according to you? PR s

b. What is experiential marketing? Explam {w;th examples) how it can be effectwely
applied in today’s times? -~ «

c. What is co-branding? Explaln the advantages and dlsadvantages

Q3. Answer the following (Any Two) . (15)

a. Discuss the brand value chain i 111 detall 2
b. Explain the qualitative researeh techmqués m-'detaﬂ S o)
c. Discuss Young & Rublcam S, madel : -

Q4. Answermé'fonowing (Any Twale o0 5 s S (15)

a. - Write a note on Brand Hlerarchy ; <
b. Deﬁne cause-related marketmg Do. u: thmk cause-related marketing is the need of the

S -"'Bxplam brand rewtahsatlon and -brand remforcement

Q5. Case Study | ' ' (15)

A great example of brand positioning is Disney. With movies, T.V. shows, theme parks,
- coloring books, and baby clothing (to name only five of its many products).

~ One successful brand extension is the Disney English-language training center. Though less

ingrained in popular culture than other Disney products, this particular extension has been
incredibly successful in China. It is especially important to highlight because as an
international brand, it faced even more obstacles than other extensions by navigating a vastly
different culture and an audience with an entirely different set of values.

Page1lof2
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After identifying an international opportunity, Disney leveraged its unique strengths, like its
unparalleled customer experience and focus on entertaining children, to break into an
incredibly lucrative niche in China. Disney English, centers for teaching young children the
English language, opened in Shanghai in 2008, according to McKinsey & Company,
simultaneous with the development of the city’s Disneyland park. Disney English is now in
more than nine cities in China, with more than 30 locations. Further, the extension is helping
the main Disney brand to flourish in a country that is not as familiar with its trademark
“magic.” As McKinsey & Company’s article notes, “In a country where Disney’s films and
merchandising have yet to establish a broad market presence, using language learning to
attract small children and their families looks like a great entry point to the world’s biggest
market'and a‘sound investment in nurturing a future consumer base for Disney products.” In
this way, the extension capitalizes on both leverage and logic, bringing value to both
consumers and the main brand in a number of ways.

Questions:

a. Define brand extension. Explain the gdv_anta_geé that Disney.will get from Brand
extensions. il g ;
b. ‘Brand extensions have increased brand equity for Disney’ Explain sources of brand

equity in context of the given case. .. -

ok o o ok
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Please check whether you have got the right questlon paper.
N.B: 1. All questions are compulsory.
2. Answer to sub-questions must be written together.

Q.P. CODE: 35128

Q.1. Answer the following: (Any two) 4 (15 Marks)
a. Explain the functions performed by a retai_léf TS Vol I .. (7.5)
b. Discuss the factors responsible for the growth of organized .retaizlzin lq"ciia (7.5)
C. What is Airport Retailing? Explain it_s' fe:aj;u_res B S : (7.5)
Q.2. Answer the following: (Any two) P > ok . . (15 Marks)
a. Explain the factors ianuencing-r.;tail___.s_hbp.];iérsy":ﬁ s (?5)
b. Write the steps in develb'p_ir_lg retaiI.._st'fétég;f:.__-f-‘= LI e (7.5)
¢ Elaborate the obje_ctivés df'CRM in ret’éil‘-.__\':.i : - - ; (7.5)
Q.3. Answer the following: (Any two) R SN 3 (15 Marks)
a. Discuss the need and lmportance of. ﬁrgvate lébei brands.. (7.5)
b. What is varlable pricmg? Dlscuss uts types 5E (7.5)
C. What do you mean by merchandlsmg? Explain the prmmples of merchandising (7.5)
Q.4. -;_Answer the following (Any two) S " ﬁ,j?:\-.' (15 Marks)
a. S;a;e._-the.respop‘SIbllltles of the store manager. (7.5)
b. . Discuss thé 5 S’s of Retail Opérations. & (7.5)
C. Explain the tools used for visual merchandising. (7.5)
: -'{ i .
/
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Q.5. Solve the case study: (15 Marks)

Organized retailing in India is poised for exponential growth. It is expected to experience new
paradigms due to the changing dynamics in areas such as demand, supply, technology, supply
chain management, government policy.

It is said that as consumerism is rapidly growing, rural consumers will be the biggest
beneficiaries. At the same time, the retailer is expected to provide value to the customers,
associates, employees and consumers. It may be noted that it is difficult to sustain retail business
with such dynamics and changes taking place in the market. The need of hour is erX|b|llty in
business so that it can change according to the needs of the market

With fast changes in rural market, some large compan'ies aré ready to enter the organized retail
business in small cities and towns. The questlon is how far they would succeed. If they enter this
field, they have to decide that weather they should focus on value retalllng or Ilfestyle retailing.

Retail cannot develop by setting up only matls 1n 'order to promote retail, we also have to
promote India as a shopping destmatlon -For thls, _ necessary to give ‘Indian retail an Indian
face. While we bring in forelgn formats to: grow, it is very tmportant that India develops her own
format rather than just to 1m|tate fermgn malls,

Questions

1. How is organized retailing. cab.be pf’omoted'.in-Ru.raI India?

v

2. Taking examp!e of an orgamzed retaller in, lndla, explam how have they been successful in
giving an Indlan face to retail? ot

3. Before settlng't__lp'an Qrga_nlzed_,re_tai'! sj;oi'j_e what rééttLéfions you will try to avoid?

LE S aEatEA EE EEE LSS S 3

Page 2 of 2 '

EEAE2349ABCB479ED71D22BA32B1CCE6



oF _ ' _ —— o

Tygms g sen fioA 2012
VA

Q.P. Code 131067
[Time: 2! Hours] 5 [ Marks: 75]
Please check whether you have got the right question paper.
N.B: 1. All questions are compulsory subject to internal choice
2. Figures to the right indicate full marks. A%
1. Attempt any two questions Tl : 3 ' 15

a) Define international marketing. Discuss its features. i, _

b) Define trade blocks. Explain the degree of integration chosen by countries.

¢) “International marketing is not as easy as ‘domestic marketing” throw light on the
Statement with respect to the challenges faced in International Marketing.

2. Attempt any two questions WIS

a) Explain the components of International Marketing Environment. N .
b) Write a note on LY O e P '
(i) World bank
(i) IMF
(iii) IFC TR NN P
¢) Explain the process of International Marketing Research. .
3. Attempt any two questions = e DAl ol
a) Propose an argument on: Product Standardisation and Product Adaptation with
suitable example =~ PRI I el g S
b) As a company intending to enter the international markets, identify the various
channels of distribution that you would consider for entry in the market.
c¢) What are the. diﬂ/‘(_erf_:_nt;_méthgd§ibﬁf\pyié'i-n-g.___i_n_\in_t_:é‘;ﬁatiOnal market?

15

4. Attempt any two questions o | 15
* a) Whatare the drivers for global service marketing?
~b) What is' meant by. international organisational design? Explain the types of
~ . organisational 's'tfuctl\l_rc___in_\lnt_eljnaj\l;ional business.
¢) How should an export firm proceed to devise international marketing plan.
AT TR ANN
5. Czis'e.S't_u"dy TS Sty SN 15
< You Are. anyFMC}G company plannm g to launch a herbal soap in International market.
G Desxgn a s:ﬁitab'le‘xpérkctiﬁg mix plan for the company. 7.5
2. What will be the mode of entry that you will adopt for product distribution. 7.5

3A43C78EF12A14F33912714CDB1901BA
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Q.P. Code: 31603
Time 2.5 hours Marks: 75
Note Below:
1) All Questions are compulsory
2) Figures to the right indicate full marks
3) Give suitable examples wherever necessary
QI) Attempt any two of the following 15

a) What is media planning? Explain the different elements of media planning.
b) Explain the role and importance of media in consumer buying decision.

¢) Explain the following terms:
(1) Audit Bureau of Circulation
(i) National Readership Survey
(iii) National Television Study

Q2) Attempt any two of the following

15
a) Explain the need -for-'-.'rn-e_qia mix.
b) Explain the dif_fcrent.typ.es of print media.
¢) Explain the different components of media strategy
Q3) Attempt any two of the following 15

a) What do y_q,u_ mean ByMedi'_a Budgef%? E-xﬁlain the factors to be considered while framing a
gk S g A '

b) Explain the elements of buying brief,

¢) What is media'scllédul'ing? Explain the importance of

4

media scheduling.

’

Page 1 of 2

4D95ES3DD2E24DA4B52735B0EEGE2BEF



Q.P. Code: 31603
Q4) Attempt any two of the following . - 15
a) Explain the following terms with reference to media measurement:
(1) Reach  (ii) Peoplemetelr (iti) TRP '
b) Write a brief note on benchmarking metrics
¢) Explain the following:
(1) Evaluating Radio Media B;ying

(ii) Evaluating Cinema Media Buying

Q5) Read the following case study & answer the questions below : 15

Media planning is the process of deriving the best strategy to reach the largest audience through
an effective use of the marketing mix, using appropriate channels. Media planning starts with an
analysis of the consumer behavior patterns of a customer’s target audience. This could be TV,
radio, print, or online. The next step is to devise a relevant advertising strategy across those
channels. The selection of media for advertising can sometimes prove tricky for small firms with
limited budgets and know-how. Advertisements through national level television and newspapers,
are often too expensive for a company that services only a small target market. The important
challenge is to translate marketing requirements in to attainable media objectives and then to
execute and monitor the strategy to achieve the desired goal. The end-to-end process of media
planning and execution involves collaboration between various stake holders. This includes
advertising, planning, agencies, creative agencies, broadcaster’s ad monitoring agencies, all of
whom are involved duri'ng. different stages of the process.

Questions:
a) Explain the role of media planner.
b) Ekplain the challenges of Media Planning.

|
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